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𝑎

A

B

C

52௢
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b

Solve for a.

6

63௢

                  
𝑎

𝑠𝑖𝑛𝐴
⎯⎯⎯⎯ =

𝑐

𝑠𝑖𝑛𝐶
⎯⎯⎯⎯

              
𝑎

𝑠𝑖𝑛52௢
⎯⎯⎯⎯⎯⎯ =

6

𝑠𝑖𝑛63௢
⎯⎯⎯⎯⎯⎯

                
𝑎

0.788
⎯⎯⎯⎯⎯ = 6.734

0.788 ×
𝑎

0.788
⎯⎯⎯⎯⎯ = 6.734 × 0.788

                         𝑎 = 6.734 × 0.788
                         𝑎 = 5.306

                 
𝑏

𝑠𝑖𝑛𝐵
⎯⎯⎯⎯ =

𝑐

𝑠𝑖𝑛𝐶
⎯⎯⎯⎯

             
𝑏

𝑠𝑖𝑛65௢
⎯⎯⎯⎯⎯⎯ =

6

𝑠𝑖𝑛63௢
⎯⎯⎯⎯⎯⎯

                
𝑏

0.906
⎯⎯⎯⎯⎯ = 6.734

0.906 ×
𝑏

0.906
⎯⎯⎯⎯⎯ = 6.734 × 0.906

                         𝑏 = 6.101

𝐵 = 180௢ − 63௢ − 52௢

     = 65௢

Solve the triangle. 

𝐶 = 180௢ − 40௢ − 55௢

     = 85௢
                 

𝑎

𝑠𝑖𝑛𝐴
⎯⎯⎯⎯ =

𝑐

𝑠𝑖𝑛𝐶
⎯⎯⎯⎯

             
𝑎

𝑠𝑖𝑛55௢
⎯⎯⎯⎯⎯⎯ =

4

𝑠𝑖𝑛85௢
⎯⎯⎯⎯⎯⎯

                
𝑎

0.819
⎯⎯⎯⎯⎯ = 4.015

0.819 ×
𝑎

0.819
⎯⎯⎯⎯⎯ = 4.015 × 0.819

                         𝑎 = 3.289

Solve the triangle

B

C
b

38௢

𝑐 = 5

   𝑐ଶ = 𝑎ଶ + 𝑏ଶ − 2𝑎𝑏𝑐𝑜𝑠𝐶
   𝑏ଶ = 𝑎ଶ + 𝑐ଶ − 2𝑎𝑐 ȉ 𝑐𝑜𝑠𝐵
   𝑏ଶ = 3ଶ + 5ଶ − 2(3)(5) ȉ cos(38௢) 
   𝑏ଶ = 9 + 25 − 30 cos(38௢)
   𝑏ଶ = 34 − 23.64
   𝑏ଶ = 10.36

ඥ𝑏ଶ
⎯⎯⎯ 

= √10.36
⎯⎯⎯⎯⎯ 

      𝑏 = 3.22 

A

𝑎 = 3

        
𝑠𝑖𝑛𝐴

𝑎
⎯⎯⎯⎯ =

𝑠𝑖𝑛𝐵

𝑏
⎯⎯⎯⎯

        
𝑠𝑖𝑛𝐴

3
⎯⎯⎯⎯ =

𝑠𝑖𝑛38௢

3.22
⎯⎯⎯⎯⎯⎯

        
𝑠𝑖𝑛𝐴

3
⎯⎯⎯⎯ = 0.19

3 ×
𝑠𝑖𝑛𝐴

3
⎯⎯⎯⎯ = 0.19 × 3

        𝑠𝑖𝑛𝐴 = 0.57
               𝐴 = 35௢

𝐶 = 180௢ − 38௢ − 35௢

    = 107௢

Cosine Law: Switched b and c Sine Law: 𝟏𝟖𝟎𝒐 in a triangle:

*Find the angle opposite of the smaller side 1st.
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